STERLING SLIDE

AQUALITY INSTRUMENT FOR
'STUDENT OR PROFESSIONAL

OPERATING INSTRUC
use and operation of slide rule

A complete course

The Sterting Student Side

in multiplication, divi

et Xl problems, as well a5 Sine, tangent and logar-
oam ol

reading of any siide rule is accurate 1o the second

-lre lllr decimal work, therefore, approximation of the

2 the

g the i
TaSt e as i mumer n thess caicuations. Aceirate
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e 15 an accurate nstrument
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e ST and P scaes appsr. 40 e iy e 4.
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MULTIPLICATION AND DIVISION
For this work, use only the C and D sc;

ales, and in some t indiiduat
cases the Gy Scale. The  and D scale startwith \ne it markin
13t the eft iy the unt 10 (or 1 af the u 0t Fi e
Ipace betwodh 3 and 3 has small mbats {niesung the hand 1 or it Space Is nmu-n n n-lm. or
toons" following the left hand 1 or 10, The lines b 573 8umsThe-isgrom:peiow shows I appear

tween the figures divi segment into 10ths on the rule, and gives readings as they
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e progression of numbers s
iple_of any.

2R 2 neretore solved 2 folowe:
1-move,the siide until the figure 1 at the left i
e hove tne side to the

2-move the cursor until the hairine s ove the 2
on the C scale on
3-th hair lne will b over 4 on the D sl
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1
2ourereado

Simiarty you wil note 3X 2 — 6,4
Tead merocs e seste,
Bear in mind that this 2 o the 2 on the C scale can

,5X2

to the problem aways appears on
which you'started, usually the D sc:

e scale from
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Dvision:
Since ne reverse of mutpicaion, we everee

ist
the procedure ghown In mltplication, as follows: Frok-
lem: divide 4 by 2, Start with 4 on ne D scale. Move
Jo gt until 2 s over the 4. Against 1 10 the Teft,

5X 2 (1 0f C over 5 of D—read 1 or 10
‘against 2 of )
« NOW 3 X3 (1 of C over 3 of D-read 9 against
o

THESE 8 2 (2 of C over 8 of D—read 4 against
PROBLEMS.

54 (4 of C over 5 of D-read 1.25

Seaint £ of 0 BEE BELOW)

For numbers which when multiplied are more than 10, i
TTRECesSar to achiove e same GHEEt by wiing th MMt

1
CopodsEoa o saranz ‘
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hand 1 (or ten) as the facor. For instance, 2X §
By placing the rignt & and réadin

e Zenthes e, "t curter e 12 o
The  scate Lotk and 1 or 10 lus the smat 3 equats 13)

NOW 7 X 4 (right hand 1 on C over 7 on D,
JRY  Read 28 on § below ihe & on ©)
place 8 on C.

THESE
PROBLENS © Against ignt hand 1o G, read &)

some. diision or mutipication rablems il run off
he rule.” In this lide, using the right
Rand or lft hand 1, and 1. 2 Shown.

EXAMPLE:

sii
e gt hand 1
Sveron'D, Againgt 4 o, fead 16
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USING THE C: SCALE:
is

The G sclle s the same as e ¢ scal, i reads rom

c
to left. T s the RECIPROCAL of the C scale,
and can,be"ised o avld the necessity of moving the

EXAMPLE: 4 X 4—Reading from the RIGHT on C.
pace the’s 4,00 p-agaimt thd

hand 1 on Ci, read 16 on D. (SEE
BELOW)

263 4cplace left hand 1.on C1 above 24
o B-Against 4 on C read 6 on
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The C scale represents the fraction (decimal) of the Ci
scale.

EXAMPLE: 1/8

ainst 8 on C read .125
Xt
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USING '"l! A OR B SCALE:
2, made up-of 2 halt o
|.~.&m Anunlhmlc\ulles therefore they are the ShumRe

Tne Sauare o 26 s 676 on the tet scal of A
e of 1 scale of A.
The Sauare of 55 u ms o the g cale of A,

the A against the D, scale Siidé th
s .|a.... o the bl 3 s over 3-on B—you wil e e e oot 1o
Tead 8 on the left half of the scale. eriant . detarmining which see to

The s lqlure 'S on D 1s 25 on the right scale of A.
(SEE BELOW)
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SQUARE ROOT:

Since the A scale is the sauare of the numbers on
turn, the numbers on D

0 nu

roots of
*imporigace Here is which halt

The square root of 25 (even number of digits—right scale)
is50nD

bers on scale A, 01 rl i

e lmoie 1355 number o geis, use he e scaie,
If EVEN number of digits, use m. right scale:
250

The xq..m ot of 2500 (even number of digits—right
scale) s 50.

25 OR 2500

Aty 2 T4 s e 7aoy o 3 4 s e o7pay
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15814 5 OR 50

USING THE K SCAL
The K scale, you will note, consists of 3 Iﬂl !
Ui, P st i b thes 1

' m D lcl 0[' ’

by plac
g 23 on te mnmz art of K

mine the number o digits i the outside" numbers I it
is only 1 digit-use the left part o in'your
Computations I 3 Sigit, the Centor part o K11’ igits,
the right side of K. For 4

' AL DR Koacale. Mlsoy the 1123, has e diits It of decimal—use right K —
xlq Since m-:-‘:n :'sc;u{. left, migg .muhnt:t the ‘CUBE ROGF:

ure o the in‘determi ‘number o pu - imal,

e for determining the numer 1o ) 125 i st tent2 digts _z’éﬂ' decimal,

the middle Scale for  digit mumbers, the Hght scale Jor
3 S0t st

d is as follows: FROM THE DECIMAL
PN alede e numbar oo B o Geis. how,
2 over the roupe of 3 nex! 1 ihe decimal. 3nd deter:

Twer will

from e mi
since it has ., ber 1250 ha

it rght o the first Totof S, 5 aniwer weeld
be found in right scal

il 8 graduated scals exactly 125 il
s graduated into thousandtns of this
1 S this TobEan o ihe same 35 he 106" scTE,
fore, by readiny llnumber on this scale we can find
the D scale. Note that
numbers are mmm hy 2 decimal poin, reading
fore from called base
Place one index Mn u it the Ia| number
or'. Read the aniwer aganet . ot facr ot ond
o 0 scale. (SEE BELOW)
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Be sure to include all decimal points, including the one
on the scale In your answer, The Iogarithm is read -
rectly on the L scale, above the index of D.
EXAMPLE: ln(.un scale) is .6025 (L scale)
2 (D scale) is 301 (L scale)
Inversely, st m mantissa ovr the ndex of D, and read
r o D below the inde

vi
used i

et st b noted hat sines ab
must be umulmludleu since the scale decy

(R e left scale on A is .1 of right scale,
(herelore an agdiionar decima i required)

ions are in minutes (60’
with degre 10s.
0132 228 272 858
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THE T SCALE:
The tangent seale strts ot 57 and Incres

ases up to
of 6°45 or 8.75°
m Jacine over 645" on | and read 1185 on the
le. (SEE BELOW)

1t can be saen h
tangent

m-

150 that multplicaion of the sine o

ainst the hair line,
answer or
EXAMPLE:

multiply as required, reading your

Wi sige A, Sin 132°
v 1317 foads m on A (LE ABOVE)
Remnve slide and tun o

o D and piace o1t 1

s only 8 matter of fining the sine or tangent of To multiply ths by, say 1.
uired angle, then transfrring this to the D sca r 14600 ‘and read
rsing the slide, and, putting the 1
Ié'ls'
ve B e e o aeaa s i 2 o
ol L S LA ) g 2‘ &

[oes

In auick review, hers is o

roblem in sach
th these, and

of the scales:
it any question, refer

etruct
15 X 137 (C & D scales) Answer: 335.65 (last 2 num-
Ders amprosimated)
924 = 16 (C & D scales) Answer: 57.75
42 X 42 (427) (D & A scales) Answer: 1764 (end 2 of each
‘number multiplied together gives fast 4)

Cube rodt of 125 (D & K scales—right side of K because
of 3 digits)

Answer s 5 on D scale.
Log 6—(REVERSE SLIDE—Use L and D scale)—.778
Sin 13.4° or 13°24'S and A scale. Answer: 232
Tangent 6.75° or 6°45'~T and D scale—.1185

£SK FOR AND USE STERLING ARCHITECT AND ENGINEERS

Square root of 2450, Answer: 49.5 (A scale—right half— SERLERULES, BroTRac ANGLES  Accurate
answer on  clarly o alprobtems m inear measure:

9X9X9 (8 D and K scale. Answer: 729 (approx. 730 ment, md radial ‘Computation. STERLING on the
on scale) Brodict 15 s guarantee of QUALITY.
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